Remember: all questions match the numbered examples on pages 60-71.

] Find the mean of2, 7, 8, 12, 17 and 20.

o Find the mean of 7, 15, 9, 23, 16, 35 and 21.

21 Find the median of 9,4, 3, 6 and 11.

A Find the median of 16, 32, 45 and 28,

q Find the mode of the scores: 2, 7,9.3,7,4,9,7,6,3.

75 The mean of a set of scores is 86, A new score of 79

72

¢ is added to the set. What will happen to the mean?

Justify your answer.

=8 The mean of a set of seven scores is 75. Another score
BN of 83 is added to the set. What is the new mean?

8

The following frequency distribution table has been
prepared after determining the number of mistakes
on each page of a document.

X f fx
1 3
2 8
3 5
4 3
5 4
Total

a Complete the table,
b Find the mean number of mistakes per page.

7 The following table has been drawn up to show the
v number of times each score was recorded when a die

was tossed.
| Score 1] 2]3]a]s5]s
Frequency | 19 132116 (24 | 27 | 21
a  What is the mode? _

How many times was the die tossed?

¢ Draw up a frequency distribution table arid find
the mean, to one decimal place,

d What is the median score?

Excel HSC General Mathematics Study Guide

The table, below, shows the number and price of
2 items sold at a market stall,
a How many items were sold altogether?
What is the mean price of the items sold?
What is the modal price?
What is the median?
What percentage of items were sold for less than’
the mean?

LU =TI & T o

[,

price but not the mean. Why might this have

been? i
Price Number sold
$2 37
$5 49
$10 42
$20 23
$100 7

il Find the mean of the following scores.
63 72 81 80 75 77 69 68
74 80 62 69 56 84 79 74

*%3 The following marks, out of 20, were scored by
¥ students in a test.

Mark 13| 1415|161 17| 18| 19
Prequency| 3 | 5t 6 { 8 |10} 9 7

Use your calculator to determine the mean, correct to
one decimal place.

@ Find the range of these scores;
7 6 9 4 6 5
10 5 9 8 6 8 7

@g Find the range of the scores: 26, 20, 25, 31 and 28.
2

The lower quartile of a set of scores is 27 and the _
upper quartile is 63. What is the interquartile range?

Forthesc01e522223345666?
= find:

a the lower quartile

b the upper quartile

¢ theinterquartile range.

o oo
e el

A media report after the market stated the media::]é :

9 8
7 5 i




' {PE] A cumulative frequency histogram and polygon
have been drawn for a set of scores.

Test rasults

v
Fo
=]
T T T 1 T 1T

4 15 16 17 18 19 20

Scares

What is the median?

What is the upper quartile?
What is the lower quartile?
What is the interquartile range?

v
2]
=]
=

an g

2 Tn an exam the marks in class X had a standard
deviation of 4.8 and class Y had a standard deviation
of 6.3. Which class had the greater spread of marks?

3 The students in a class sat for a theory test and a

¥ practical test. Every student scored exactly 5 marks

less in their practical test than they did in the theory

test.

a What can be said about the mean of the practical
test compared to the mean of the theory test?

b What can be said about the standard deviation
of the practical test compared to the standard
deviation of the theory test?

% A test was given to all the students doing a particular
! course. The marks (out of 50) scored by the students
“in Mr Cope’s class are: 37 48 39 41 43 38

45 47 45 41 37 40 44. Whatis the standard
deviation (o, _,) to two decimal places?

The members of a class were given a test and all the
marks (out of 20) are given below:
18 17 13 17 16 14 19 13

17 16 18 15 17 16 18 18
~ What is the standard deviation {g,) to one decimal
* place? ’

, correct t

e

Two classes both sat for the same test. The results, out

of 60, were: .
Class A: 42 45 38 51 47 37 53 50 43

and 28 46 45 38 39 41 46 35 45 49

ClassB: 36 30 44 44 48 57 55 32 46
nd the ; 43 50 49 33 41 45 47 51 42
tile range a’ Find the mean and standard deviation (o__ ) for

both sets of scores. (Give the answers correct to
one decimal place.)
In which class were the scores closer to the mean?

2] The scores (out of 20) gained by the members of a
X class in a test are given below:
3 12 13 13 14 14 14 14 14 15 15 15
16 16 16 16 17 17 18 18 19
a What is the mean to one decimal place?
b What is the standard deviation (o, ) to one
decimal place?
¢ What is the mode?
d What is the median?
¢ What is the range?
f Jill only scored three marks. Recalculate the mean,
standard deviation, mode, median and range if
Jill’s score is ignored.

=8 The costs, in dollars, of a person’s monthly phone
bills over the last 16 months are shown below.
Ignoring any outliers, find the mean monthly phone
cost,

44 36 53 48 37 50 762 51

39 45 48 56 38 50 54 55

@ Briefly describe the shape of each of the histograms
28 in terms of smoothness, symmetry and number of
modes.
a

Frequency
\

Scores

[,

Scores

Frequenty

Frequency

Scares

: A line graph has

'~ been drawn to show
the ages of children
attending a camp,
What information
can be gained from 78 9 101 12
the shape of the Scores

display?

Ages of children at Camp Quigley

Frequency

@ Bridget tossed a die a number of times and the results
N are given below.
1531432561424
3551623546351
a Draw a dot-plot of the results, .
b What information can be gained about the data
from the dot-plot?

6
6
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4] A stem-and-leaf plot has been drawn to show the
X results of a class test.

Test results

419

158
456888¢9
122679
049
26

O N ey

What is the range?

What is the mode?

What is the median?

Briefly comment on the features of the display.

oo o

Two classes sat for the sane test (out of 60) and the
results are shown in the back-to-back stem-and-leaf
plot below.

Test results
Class X Class Y
6|05
91117 8
8§ 741215
987652|3|1466689
99886430(4|10122457
©7754215/011368

a  Which class had the greater range of scores?

b What is the median score for each class?

¢ Caitlin is in class X. She said, “My class did better
than class ¥.” Do you agree? Justify your answer.

Forty students sat for an exam and the results
2 (out of 100) for boys and for girls are listed below.

Boys: 65 73 79 64 82 93 81 77 69 71
80 76 76 68 87 72 79 66 88 80

Girls: 74 82 76 62 77 85 91 73 75 71
90 84 69 73 78 86 77 70 77 76
a Draw a back-to-back stem-and-leaf plot of the
results.
b The teacher believed there was not a significant
difference between the results for the boys and for
the girls. Do you agree?

"% A box-and whisker plot has been drawn to illustrate
X the scores out of twenty by students in a test.

Test results

1 1

) I 1 | 1 i 1 1 ]
12 13 14 15 16 17 18 19 2¢
What was the median mark?
What was the range of marks?
What is the interquartile range?
Approximately what percentage of the students
scored 15 or more in the test?

[T o B = -4
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3 The ages that students at a particular college started
* studying music are depicted in the box-and-whisk
plots below.

Ages of music students

I | hoys l
L i I N 1 ] L | 1 1

i 1 |
5 6 7 8 9 10 11 12 1314 15 1617

What similarities and differences are there between o

the two data sets?

q Two sisters both won ribbons at pony club meets

each won was studied and a five number summary

produced.

Roxanne: [0, 2,4, 6, 9]

Sarah-Jane: {0,3,3,5,7]

a Draw two box-and-whisker plots on the same
scale for the data.

b Briefly comment on any similarities and
differences between the two data sets,

1 This radar chart shows the average monthly
¥ maximum temperatures for two cities X and Y,

Average monthly maximum temperatures (°C}
Jan.
Dec. =], Feb.

Oct, /

Aug. T Jun.

a  What is the average monthly maximum
temperature for city X in February?

2 over the last year. The number of ribbons per month :

a whi

b In what month are the average monthly maximu
temperatures of the two cities the same?

¢ Onecity is in the southern hemisphere and one i
-

in the northern hemisphere. Which city is in the {
southern hemisphere? Justify your answer. _

d What other information can readily be seen from
the graph?

T
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started

Jessica is raising money for a charity and kept a record
whisker %

of the sources of the funds over six weeks, She showed
the results in an area chart (below).

Jessica’s fundraising ($)

200 200
180 180
160 160
140[ 140
- 120 120
H 100k 160
etween | 80 = 130
kg 40 60
{ 40
meets | 20 20
er month 1 '
mmary [ sate of pens
[ eadges .
a In which week did Jessica raise the least amount of
. same money?
- b IfJessica aims to raise $200 every week, by how
T much did she fall short in week 5?
1 ¢ One source of funds raised the same amount each
: week, What is that source and how can we see that
£ it is the same?
EY | d Which is the most profitable source of funds?
i . +{

240 students at a school had a choice of four sports.
The numbers choosing each sport are shown in the
_sector graph. The column graph shows the number of
" injuries in each sport last week.

Sport chosen InJunes in each 5port
o 10 .
R | g8
i | 5|
- Apr. £
13: (5]
A g4
§
=2
!
~ a How many students were injured playing soccer?
- b How many students played netball?
m ¢ What percentage of basketball players were
Iy maxim injured?
};m d Based on these figures, whlch sport is the most
:-an done dangerous? Justify your answer.
ty is in the :
swer. Some students at a college were surveyed to see
e seen frof whether or not they lived on campus. The table shows
the results.
. Residents Non-residents
47 Male 47 65
4} - |Female 52 56

8 How many students were residents?
- b How many students were female?

Unit 2: Data Analysis Chapter 4: Interpreting Sets of Data

¢ What percentage of males were residents?

d What percentages of residents were male?

e What fraction of all those surveyed were female
non-residents?

A survey of pets was conducted to see whether or not
they were micro-chipped.

Micro-chipped | Not micro-chipped

Dogs 62 18
Cats 48 32

How many pets in total were surveyed?

What percentage of pets were not micro-chipped?
What fraction of dogs were not tmicro-chipped?
What percentage of those not micro-chipped were
dogs? .

amn oot

Denise collected information from the last twenty

¥ years about the maximum daily temperatures for

February and for August for her town. She worked
out the five-number summary for each month:
Feb. 21,24, 28, 30,39
Aug. 12,17,19,22,27
a  Which month had the greater range?
Which month had the greater interquartile range?
¢ Denise noted that in more than 50% of cases,
February had higher maximum temperatures than
August ever did. Was she correct?

Two groups, both of 25 people, sat for the same trivia
X quiz. The results for group A are shown in the table.

False answers Frequency
0 2
1 5
2 4
3 6
4 3
5 2
6 2
7 1

The mean number of false answers made by group B

was 2.96 and the (sample) standard deviation was 2.1.

a How many false answers did group A give
altogether?

b Calculate the mean and sample standard deviation
for group A.

¢ Which group gave more false answers?

d Which group had the more consistent results?
Justify your answer.

Go to pp 285-6 for Quick Answers
or to pp 31114 for Worked Solutions
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2

1

with marks out of ten. In the last six weeks Flora has

scored 6,5, 7, 8, 6 and 7.

a What is Flora’s mean mark?

b Over the next four weeks Elora wants to increase
her mean mark to 8. Is this possible? Justify your
answer, Hint 1 :

The frequency histogram has been drawn to show the
number of mistakes made by contestants in a quiz.
Mistakes by contestants

1 2 3 4 5 6 7
Mistakes

a  How many contestants took part in the quiz?
b How many mistakes were made? fint 2

¢  What was the mean number of mistakes?

d  What was the modal number of mistakes?

{ The back-to-back stem-and-leaf plot shows the results

in an exam by two classes, M and P.

Exam results

M P
977l5]68
6420|6(35
964|712
7752(8(01
3311]9(3738

Which class had the greater range?

Which class had the greater median and by how

much?

¢ The mean for the two classes was the same (77.25).
Which class had the greater standard deviation?
Hint 3 '

d Gavin is in class M. He commented, ‘My class did

better than class P." Do you agree? Justify your

answer.

5588

79
35
446769

8
4
a
b

nivmber was 80, for example.
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Every week, the students in Flora’s class write an essay

15y

The box-and-whisker plots show the performance
N by two schools in an external exam. The results we
given as grades from [ to 10, with 10 being the bet
result. |

Exam results

% Grace Grammar

1 1

a

b

The following scores were achieved by two sets of
students. .

Group A: 87 63 73 81 77 90 68 74 86 -
78 69 82 77 85 82 79 74 70
GroupB: 76 73 90 82 88 84 21 89 72

a Find the mean and standard deviation (o, ) for:

b Which group performed better? Briefly commen{_t

3] The two-way table shows the results of a survey of |
people to see whether they were parents, The numbe
of men who were parents is missing, Whichis

greater: the percentage of men who are parents or thg
percentage of parents who are men? Hint 6

— e L
12 3 4 5 67 89 10

Compare and contrast the performances of the
two schools,

If Grace Grammar School had 212 candidates
while Heidi High School had 108 candidates,
which school had more students scoring a grad
7 or better?  Hint 4

84 83 92 78 83 80 96 85 87
each set of scores,

Hint 5

Men Women
Parents 80
Not parents 120 100

: How meany marks in total will Florg need to have in order to average 8 after another four essays?
¢ Not all the scores are actuolly mistakes. =

s There is no need fo actually colculate the standard deviation.
> What percentage of scores are higher than the median? What percentage are higher than the upper quartile?
: What is the effect of the outtier in group B?
¢ Which will be greater: the number of men or the number of parents? Vot effect will a greater number Fove on the percentage? Suppose the missing

Go to p 286 for Quick Answei‘g
or to p 314 for Worked Sclution




UNIT 2; Data
Analysis

Ch 4: Interpreting Sets
of Data

Further Practice......p72

_ 24748+12+417420

@ mean
6

=11

Zx=7+15+9+23+16+35+21
=126
2
n
16

7
=18

f:

Y 3,4,6,9, 11
Median is 6.

T 16,28,32,45
28+32

median =

=30

2,7,9,3,7,4,9,7,6,3
Mode=7

The mean will decrease. The score being
added is lower than the original mean,

X =75 n=7
.. Zx
I=—
7
b
75= %
7
Zx=75x7
=525
New Xx =525 +83
=608
Newn=7+1
=8
Newmean: ¥ = 2
H
_ 68
8
=76
4° [~ [ F | &
1 3 3
2 8 16
3 5 15
4 3 12
5 4 20
Total | 23 66

b g-
Zf
66

23

=2.869 565217 ...

=29 (1dp)
The mean number of mistakes
per page is 2.9, correct to one
decimal place.

Score 112 3 41516

Frequency| 19 |32 | 16 | 24 1 27 [ 21

f The mean is higher because of the
small number of higher priced items.
The median is more representative of
the price paid for most items,

m63 72 81 B0 75 77 69 68
74 80 62 69 56 84 79 M

X =72.6875

m ¥=1676923077 ..
=168 (1dp.)

Mark 137141157116 |17 18] 19 |20

a mode =2
b Zx=19+32+16+24+27+21
=139
The die was tossed 139 times.
<[x [ 7 | &
1 19 19
2 32 64
3 16 48
4 24 96
5 27 135
6 21 126
Total | 139 488

*
>f
158

139
=3.510791367...

=35 (1dp.)

X =

d median =4
[There are 139 scores altogether so
the median is the 70th score.]

m Price  Number sold
$2 37
$5 49
$10 42
$20 23
$100 7

a Numbersold =37 +49+42+23+7

=158
b By =37x%$2+49x 85+ 42510
+23x520+7 % $100
=$1899
¥=§1899--158

=$12.018 987 34 ...
=$12.02 {nearest cent)
¢ Mode=$5
d Median = $5
e Number of itemns sold for less than
the mean =37 +49 + 42
=128

1
Percentage = ﬁ x 100%
158

=81.01265823...%

=81% (nearest percent)
. 81% of items were sold for less
than the mean,

Worked Solutions Ch 4: interpreting Sets of Data Further Practice Q118

Frequency] 3 |5 16 |8 {10[9 |7 |4

m upper extreme = 10
lower extreme =4

range=10-4
=6

m 20,25, 26,28, 31
range =31 - 20
=11

F¥ Interquartile range

— =upper quartile - lower quartile
=63 -27
=36

22233456667
lower quartile =2
upper quartile =6
interquartile range =6 -2
=4

m a median= 17

Test results

1
14 1% 16 17
Scores

18 18 20

b upper quartile = 18

Test results

15 15 16 17 18 19 20
Scares

¢ lower quartile = 16
Test results

6 17 18 19 20

Scares

14 15

d interquartile range =18 - 16
=2

Class Y had the greater spread because
it has the greater standard deviation.

311
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FT] a 'The mean of the practical test will
" be 5 marks lower than the theory test
mean.

b The standard deviation will be the
same for both tests,

mﬂ 48 39 41 43 38 45

47 45 41 37 40 44
o, =3.707234785.. [by calculator]
=371 (2dp)

mlS 17 13 17 16 14 19 13
17 16 18 15 17 16 18 18

o, =1.763341997.... [by calculator]
=18 (1dp)

38 51 47 37 53 50 43
46 45 38 39 41 46 35 45 49
Class B:

36 39 44 44 48 57 55 32 46
43 50 49 33 41 45 47 51 42

a (Class A: ¥ =43.888 8888 ...
=439 (1dp)
g, , =5.155110416..
=52 (1dp)
Class B: ¥ =44,555 55555 ...
=446 {l1dp)
o, =6827472379...
=68 (1dp}

b Class A has scores closer to the mean
because the standard deviation is
lower for class A than for class B.

EE} 12 13 13 14 14 14 14
14 15 15 15 16 16 16 16
17 17 18 18 19
a mean= 1471428571 ..

=147 (1dp)
b o, =3242573934 ..

1
=32 (1dp)
¢ mode=14
d media.n== 15
e range=19-3
=16

f newmean=153
new o, = 1.866 604007 ...

1

=19 (ldp)
mode =14
median =15
newrange = 19-12
=7

m 44 36 53 48 37 50 762 51
39 45 48 56 38 50 54 55
Outlier = 762
Mean of others =46.933 33 ...

=4693 (2dp)
The mean monthly phone bill
is $46.93, to the nearest cent.

Frequency

Pl

Scares

The graph is smooth and
symmetrical. There is one mode.

o
Frequency

Scores

‘The graph is not symmetrical or
particularly smooth. it is skewed with
more scores of a higher frequency at
the left (positively skewed). There is

just one mode.
c
oy
g
&
£
Scores

This graph is reasonably smooth and
symmetrical. It has two modes.

@ Agzs of children at Camp Quigley

7 8 9 1w i1 12

The mode is 9. The graph is smooth but
not symmetrical, It is positively skewed.
There are more younger ages than older
Ores.,

Frequency

m153143256142463
5516235463516

a Throws of a die
. . . .
. s e e »
» - L L] L ] L
L ] L ] L . L ] L
L ] L 3 L L ] L ] L
1 2 3 4 5 &
Scores

b The mode is 5. The scores are fairly
symmetrical and evenly distributed.
There are fewer even scores than odd
ones.

E Test results
49
5/158
6/45688829
71122679
83i049
9i2 6

@ range=96-49
=47

b mode=468
69+71

¢ median =
=70

d The display is fairly smooth and
symmetrical,

312 Worked Solutions Ch 4: [nterpreting Sets of Data Further Practice Q19-32

E Test results

Class X Class Y
61015
11|78

87425

987652{31466¢6
99886430/ 4:10122457
97754215;0113
a ClassX: range=59-6
=53
ClassY: range=58-5
=53
The range is the same for both classes,

b Class X: median = 43
Class Y: median =41

¢ Caitlin could be correct but there is
not a great deal of difference between
the two classes. The range is the same
and the medians are only slightly
different, The scores in both classes
are skewed with more higher scores
than lower ones.

m Boys: 65 73 79 64 82 93 81 77 69 71
80 76 76 68 87 72 79 66 88 80

Girls: 74 82 76 62 77 85 91 73 75 71

90 84 69 73 78 86 77 70 77 76

Exam results
Boys Girls -
98654|6|29
99766321|7]|013345667778
8721008245686
319401
b Yes. The range of scores is the same
for both groups (29) and the median
mark is the same (76.5). Both sets of
marks are skewed.

m Test results

T T WY N N TN N N
12 13 14 15 16 17 18 19 20

a median =17

b range=1%-13
=6

€ interquartile range =18 - 15
=3
d The lower quartile is 15 so
25% of marks are less than 15.

Approximately 75% of pupils scored
15 or maore.

m Age of music students

1 ] 3 ] 1 1 1 1 1
56 78 910111213141516 17

'The range of ages of the boys is greater
than for the girls. Both groups are fairly
symmetrical although the girls are
slightly skewed with the median closer
to the lower extreme than the higher
extreme.
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oy o Pony club ribbons

Mﬁi:}—| Sarah-Jane
I

[P EP R
012 3 4567 88910

b Roxannes graph has a greater range
and a greater interquartile range, It is
fairly symimetrical. Sarah-Jane’s graph
is skewed, the median and lower
quartile are the same.

m Bwerage monthly madrum temparatures (°0)

a 35°C
b May

¢ City X is in the southern hemisphere.
It has its hottest average monthly
maximum temperatures in
December, January and February,
whereas city Y has its coldest average
monthly maximum temperatures
then.

d City Y has a much milder climate
than city X. It has fairly constant
temperatures all year round. City
X has average monthly maximum
temperatures above 30°C for almost
haif of the year. City Y has much
lower average monthly maximum
summer temperatures but only
slightly lower average monthly
maximum winter temperatures than
City X.

Jessica’s fundraising (%}

m 204 200

180 180
W\

\\ 160

140 - \ 140
1207~ 120

" s

5 6

3 4
Week
B boor-knocking [[]5ate of peas

{E] Raffles []Badges
a Week 6
b Total raised in week 5 = $150
Difference = $200 - $190
=$10
Jessica fell short by $10 in week 5.

¢ Raffles is the source that is the same
each week, This can be seen on the
graph because the width (height) of
the area is constant,

d The sale of pens is the most profitable
source of funds.

it crasen

Tnfuries in ezch spart

-

Number of Injurles

a Five students were injured playing
s0ccer

b Angle for nethall
=360° - (90 +45 + 60)°
=165°

Netball players = 165 x 240
360

=110
110 students played netball.

€ 3 basketball players were injured
Basketball players = 20 %240
360
=60
Percentage injured = — x 100%

£8|w

d Netball players =110
Percentage injured = %)0— x100%
=9.090909...%
Soccer players = LY 240
plays 260
=40
. 5
Percentage injured = o % 100%
=12.5%
. 45
Cricket players = ——x 240
360
=30
. 2
Percentage injured = 30" 100%

=6.666 66 ... %
Based on these figures, soccer is
the most dangerous sport.

Residents Non-restdents

Male 47 63
Female 52 56

a ‘Total residents = 47 + 52
=99

b Total females =52 + 56
=108

€ Total males=47 +65=112
Percentage of males that are residents

= A7 x 100%
112

=41,964 2857 ... %
=42% (nearest per cent)

Worked Solutions Ch 4: Interpreting Sets of Data Further Practice 033-39

o Percentage of residents that are male
47

= —x100%
99

= 47474747 .. %
=475% (1dp)

e Total present =108 + 112
=220

Female non-residents = 26
220

_
55
m Micro-chipped | Not micro-chipped
Dogs 62 18
Cats 48 32

a Total surveyed =62 + 18 + 48 + 32

=160
b Total not micro-chipped =18 +32
=50
Percentage = ﬂ>< 100%
160
=31.25%
¢ Totaldogs =62+ 18
=80
. . 18
Drogs not micro-chipped = Py
=2
40

d Total not micro-chipped = 50
Percentage of dogs = -;% x100%

=36%

m Feb. 21,24, 28, 30,39
Aug. 12,17,19,22,27

a Feb: range=39-21
=18
Aug: range=27-12
=15
February had the greater range.

b Feb.: Interquartile range =30-24
=6
Aug: Interquartile range =22 - 17
=5
February had the greater interquartile
range.

¢ Yes, Denise was correct. The median
maximum daily temperature in
February was 28°C, so 50% of days
were hotter than 28°C. ‘The upper
extreme for August was 27°C, so the
highest ever temperature in August
was 27°C,
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False answers Frequency
[ 2
i 5
2 4
3 6
4 3
5 2
6 2
7 1
a Total number of false answers
=5x1+4x2+6x3+3x4
+2x5+2x6+1x7
=72
Group A gave 72 false answers.
b mean = 2.88
standard deviation = 1.9
[by calculator]

¢ Group B gave more false answers
since the mean number of false
answers is higher but the number of
people is the same.

d Group A was more consistent
because its standard deviation is
lower than that of group B.

Challenge........... p76

a 6578, 6and7

5+7+8+6+7
Mean:6+ +7+8+6+
6
_®
6
=65

b After another 4 weeks there will be
10 tests. To have a mean of 8, Flora’s
marks must total 8 x 10 = 80
Extra marks needed =80 -39

=4]
But each test is only worth 10 marks
so the maximum marks Flora can
achieve Is 40. It is not possible for

Flora to increase her mean mark to 8.

Frequency
eI R = T ]

E Mistakes by contestants
0 1 2 3 4 5 6 7

Histakes

a Number of contestants
=4+2+5+34+7+6+3+1
=31

b Number of mistakes
=2x1+5x2+3%x3+7x4
+EX5+3IX6+1x7
=104

¢ Mean number of mistakes
=104+ 31
=3.35483871..
=335 (2dp)

d Modal number of mistakes = 4

314

Exam results
M P
977!5|68
6420(6[(3579
964|7|112355588
87752|8|0144679
43311[9|378

a M: range =94 - 57
=37
P: range=98-56
=42
P had the greater range,

79+82

b M: median =

=805

5478
P: median:7 +7

=76.5
Difference = 80.5 - 76.5
=4
M has the greater median by 4.

¢ M has the greater standard deviation.
The scores in M are spread further
from the mean.

d Although the mean is the same
for both classes, M has the greater
median. M has more scores in the
90s although the two highest scores
are both in class P. On the whole the
students in M did just a little better
than the students in P.

Esam results
|._—| }—‘Heidi High
I—':[j——‘ﬁlace Grammar

L] ] 1
12 34 5 67 814910

a Heidi High had the larger range and
the larger interquartile range. The
upper extremes and lower quartiles
are the same for both schools but the
median for Heidi High is 7, whereas
the median for Grace Grammar is
only 5. Of Heidi High students 50%
scored 7 or better but only 25% of
Grace Grammar students scored 7 or
better.

b Approximately 50% of Heidi High
students scored 7 or better.
50% of 108 = 54
Approximately 25% of Grace
Grammar students scored 7 or better,
25% of 212 =53
Roughly the same number of
students at each school scored 7 or
better.

Worked Solutions Ch 4: Interpreting Sets of Data Further Practice Q40 and Chi

Group A: 87 63 73 81 77 90 68
74 86 78 69 82 77 85
8279 74 70

GroupB: 76 73 90 82 83 84 21
89 72 84 83 92 78 83
80 96 85 87

a Group A: mean =775
o, =7294236242 ..

=73 ({1dp),
Group B: mean =80.1666...
=802 (1dp)
o, =1606329393 ..
=161 (ldp)

b Group B has a higher mean but much
larger standard deviation, If the
outlier is ignored, then B has both 2
higher mean and smaller deviation
then group A. Group B's results are
therefore more consistent and so they
clearly performed better when the
score of 21 is ignored.

There are more men than there are

parents, The percentage of parents who
are men must therefore be higher than
the percentage of men who are parents.

Men Women
Parents 30
Not parents 120 100




